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Mon Feb 27 07:17:08 2012

[ADC MPV for RDO=1ARM=0,APV=5__}

MPV (ADC-ped)

. . ;
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=6 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=7 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

; ; :
€Y 20 0 50 80 100 120

APV channel

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=9 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500
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Mon Feb 27 07:15:15 2012

[ ADC for FGT RDO=1,ARM=0,APV=12 |

0?

3

ADC-pe

1000

3000 4000
raw ADC

2000

ADC for FGT RDO=1ARM=0APV=13 |}

1
1000

I
3000 4000
raw ADC

2000

[ ADC for FGT RDO=1.ARM=0.APV=14 ]
—

ADCped

1000

2000 3000 4000

raw ADC

[ ADC for FGT RDO=1,ARM=0,APV=15

AD%ped

1000

2000 3000 4000

raw ADC

[__ADC for FGT RDO=1,ARM=0.APV=16 _§

0

1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=12 }
= 4000 p—
] =
i =
Q 3500 f— -
< =
3000 f=——
=
2500 f=—1
=
2000 = -
=
1500 f=— |
1000 = -
=
500 f—
=
=
0
=
0
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=13 "}
= 4000 p—
g = 8 8 8 8 8 2
9 3500 f=—
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=14 "}
= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 f=— |- - -
< =
3000 f=—|- - -
=
2500 f=—r|- - -
=
2000 f=——|- - -
=
1500 f=——|- - -
1000 p=——|- - -
=
500 :-:— oo
=
ofE—--
= i i i i i i
20 40 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=0,APV=15 }
= 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=——
=
oE—
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=0,APV=16 l
= 4000
Q 3500
<

3000

2500

2000

1500

1000

500

0

°Tm]|r|1|r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|1rr|

APV channel

L. ES.10 EL.d BSOS EO.E

10

10"

10

10

10

10"

10

10"

10




run_13058013 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
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Mon Feb 27 07:15:19 2012

ADC for

FGT RDO=1ARM=0,APV=17 |}

ADgApecl

[ 1000 2000 3000 4000

raw ADC

[ AoC for

FGT RDO=1,ARM=0,APV=18 _§

1 I
1000 2000 3000 4000
raw ADC

[ Apcfor

FGT RDO=1ARM=0,APV=19 __§
—

ADgped

1000 2000 3000 4000
raw ADC

[ ADC for

FGT RDO=1ARM=0,APV=20 _§

-ped

Al
U

1000 2000 3000 4000
raw ADC

ADC for

FGT RDO=1ARM=0,APV=21 _J|

ADC1ged

0

1000 2000 3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=17_J

APV channel

" 1
60 80 100 120
APV channel

= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 =
=
1500 f=——
1000 f=——
=
500 fm——
=
=
of—
= i
0 20
[ ADC for FGT RDO=1,ARM=0,APV=18
- 4000 p—
] = 5
5 =
9 3500 =
< =
3000 f=—
=
2500 f=——
2000 fm/——
=
1500 f=—
=
1000 P=—
=
500 f—
=
0=
E_. . . i
0 20
[ ADC for FGT RDO=1,ARM=0,APV=19
- 4000 p—=
] = .
o = :
Q 3500 = e e e
= =
3000 - - - - - - -
=
2500 = - - - - - - -
=
2000 = =0
=
1500 f=—-------
1000 f=—-------
=
500 = e - - - e e
=
() = ST
= i
20
[ ADC for FGT RDO=1,ARM=0,APV=20
- 4000 p—
] = 5
oo =
Q 3500 F=—
< =
3000 f=—
2500 &

2000

1500

1000

500

0

60 80 100 120
APV channel

° nrl]lrn|r|1|[|1|r|1|r|]n|1

[ ADC for FGT RDO=1,ARM=0,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

40

60 80 100 120
APV channel

APV channel




run_13058013 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
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run_13058013 FGT_ ADC_1,Timebin=2,Disc=3,asmb=3AB
Mon Feb 27 07:15:44 2012
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run_13058013 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB
Mon Feb 27 07:17:18 2012
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run_13058013 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Mon Feb 27 07:17:52 2012
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run_13058013 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Mon Feb 27 07:15:47 2012
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run_13058013 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA

Mon Feb 27 07:17:19 2012
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run_13058013 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
Mon Feb 27 07:17:53 2012
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run_13058013 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Mon Feb 27 07:15:49 2012
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run_13058013 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Mon Feb 27 07:17:19 2012
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run_13058013 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
Mon Feb 27 07:17:53 2012
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run_13058013 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB

Mon Feb 27 07:15:53 2012

ADC for FGT RDO=1ARM=3,APV=12 _§
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run_13058013 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB
Mon Feb 27 07:17:21 2012
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run_13058013 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Mon Feb 27 07:17:54 2012
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run_13058013 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB
Mon Feb 27 07:15:56 2012
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[ ADC for FGT RDO=1,ARM=3,APV=18 | [ ADC for FGT RDO=1,ARM=3,APV=18 }
L - 4000 p—
g - 3 = . . . . . .
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ abc for FGT RDO=LARM=3,APV=19 } I ADC for FGT RDO=1,ARM=3,APV=19 l
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q —
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=——
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=3,APV=20 | [ ADC for FGT RDO=1,ARM=3,APV=20 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1ARM=3.APV=21 _}| [ ADC for FGT RDO=1,ARM=3,APV=21 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i
0 1000 2000 3000 4000

raw ADC APV channel




run_13058013 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB

Mon Feb 27 07:17:22 2012
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run_13058013 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Mon Feb 27 07:17:56 2012
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run_13058013 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Mon Feb 27 07:15:58 2012
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run_13058013 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
Mon Feb 27 07:17:22 2012
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run_13058013 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Mon Feb 27 07:17:56 2012
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run_13058013 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Mon Feb 27 07:16:01 2012
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run_13058013 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Mon Feb 27 07:17:57 2012
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run_13058013 FGT_ ADC _1,Timebin=2,Disc=5,asmb=5AB

Mon Feb 27 07:16:03 2012
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run_13058013 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
Mon Feb 27 07:17:23 2012
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run_13058013 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Mon Feb 27 07:17:57 2012
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run_13058013 FGT_ ADC _1,Timebin=2,Disc=5,asmb=5AB
Mon Feb 27 07:16:07 2012
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run_13058013 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
Mon Feb 27 07:17:24 2012

[ADC MPV for RDO=1ARM=4,APV=17

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=18 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

120
APV channel

[ADC MPV for RDO=1,ARM=4,APV=19 _}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=4,APV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
O o
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=21 "}

MPV (ADC-ped)

1500

1000

500

-500

20 a0 0 a0 100 120
APV channel




run_13058013 FGT_RMS 1,Timebin=2,Disc=5,asmb=5AB
Mon Feb 27 07:17:58 2012
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run_13058013 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC

Mon Feb 27 07:16:10 2012
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run_13058013 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Mon Feb 27 07:17:26 2012
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run_13058013 FGT _RMS 1,Timebin=2,Disc=1,asmb=1BC
Mon Feb 27 07:17:59 2012
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run_13058013 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC
Mon Feb 27 07:16:14 2012
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run_13058013 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Mon Feb 27 07:17:27 2012
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run_13058013 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD
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run_13058013 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD
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run_13058013 FGT _RMS 1,Timebin=2,Disc=2,asmb=2BC
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run_13058013 FGT _RMS 1,Timebin=2,Disc=2,asmb=2BC
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[CADC RMS for RDO=2,ARM=1,APV=5__J

RMS (ADC-ped)

oo

50

TR

40

30

20

10

SR TTFFIIT-TFIIT

APV channel

[ADC RMS for

RDO=2,ARM=1,APV=6 |

RMS (ADC-ped)

APV channel

[CADC RMS for

RMS (ADC-ped)

70 F
60 :
50
40
30
20

10

i i i i
0 20 40 60 80 100 120
APV channel

[CADC RMS for

RMS (ADC-ped)

90

1II1|I1H

80

70

60

50

TITHTFTRHEHHT

40 =
=

30 f=—
=

20 =—

o E—

o EE i i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=9 "}

RMS (ADC-ped)

100 [5

TTT

80 [+
60 pH—-FFf{1---}-- L T N A R oS ENR 1EERN Fo 1 3 R dobe ) ] O E TR & S PETRRRN o8 B R

40

20

20 40 60 80 100 120
APV channel




run_13058013 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD
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run_13058013 FGT _RMS 1,Timebin=2,Disc=2,asmb=2CD
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run_13058013 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD
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Mon Feb 27 07:17:35 2012

[ADC MPV for RDO=2,ARM=2,APV=17 J

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=18 "}

L : : : : : :
1800 [ s e R R RRRRREEEEE R RRARRRELEELEE R R RRRRREEEEE reenes

MPV (ADC-ped)

1000 [+

i
120
APV channel

-500

[ ADC MPV for RDO=2,ARM=2,APV=19 |

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

; ; :
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

-500
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=21 "}

MPV (ADC-ped)

APV channel




run_13058013 FGT _RMS 1,Timebin=2,Disc=3,asmb=3CD
Mon Feb 27 07:18:08 2012

[ADC RMS for RDO=2,ARM=2,APV=17 _}

1033

140

120

LED

RMS (ADC-ped)

100

IREEK]

80

60

40

20

O-I-I-I-I:III‘ll‘l-l'-l'l-l-l-

[ ADC RMS for RDO=2,ARM=2,APV=18 '}

18

16

14 £

RMS (ADC-ped)

12

10

1
120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=19 |

RMS (ADC-ped)

APV channel

[CADC RMS for RDO=2,ARM=2,APV=20 _}

RMS (ADC-ped)

[ ADC RMS for RDO=2,ARM=2,APV=21 "}

= —
g o
(6] b—

o —

$ b—

= g

= -

'3 -

o e

30

20

10

O%] T

APV channel




run_13058013 FGT_ADC _1,Timebin=2,Disc=4,asmb=4BC
Mon Feb 27 07:16:47 2012

[ADC for FGT RDO=2,ARM=3,APV=0 }

ADgped

[ 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=1 }

ADgped

I
3000 4000
raw ADC

1
1000 2000

[ADC for FGT RDO=2,ARM=3,APV=2 }

-ped

Al
Q)

1 1
1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=3 }

-ped

Al
U

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=4 }

-ped

Al
Q)

0 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=0_}

= 4000 p—
] = .
e = o
Q 3500 fm— - - - s p e e - B e
< =
3000 f=—------f----- 1 2 drdpqe=cz=-
= ]
2500 p=— - mpe o] Pl i el
= 8
2000 - - - opn- - SEELETERE L EELELE
= 5
1500 o s v e e fe e B o B
1000 P=— - - -t e e e B B P
= 8
= 8
51 |==0co0000bos00ed Sosoa/bdbdedszosss
= 2
= 2
@|i====ovsjzoessy 3-==fgrqpip=oo="
= i
0 20
APV channel
[ ADC for FGT RDO=2,ARM=3,APV=1 }
= 4000
]
T
Q -
8 3500
<

3000

2500

2000

1500

1000

500

0

°-nn]1r|1|r|1|[|1|r|1|r|]|r|1|r|1r[|1|r|1m

1
120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=2 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|rn I|'I1II'|1 T

APV channel

[[ADC for FGT

Py
]

0=2,ARM=3,APV=3_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

1 H|'I1II'|HI'I

° nrl]lrn|r|1|[|1|r|1|r|]n|1

20 40 60 80 120

APV channel

[ ADC for FGT RDO=2,ARM=3,APV=4 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel




run_13058013 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Mon Feb 27 07:17:37 2012

[ADC MPV for RDO=2,ARM=3,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=2_}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13058013 FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC
Mon Feb 27 07:18:09 2012

[ADC RMS for RDO=2,ARM=3,APV=0_}
140 5

120 p—

RMS (ADC-ped)

100
80 =
60 [
40

20 [r

H . . ;
0 120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=1 "}

5 —
g L P R
Q —

a —

< —

@ Ll D o T e R e R PR P PR PP

=

x

80

60

40

20

SITHTTATH TR

1
120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=2 "}

RMS (ADC-ped)

i
120
APV channel

[CADC RMS for RDO=2,ARM=3,APV=3_}

70 s emereismmeimeseseiieiiimeresiemmiiesesesieioioeiaioson e LT o EL T e LT P

60

RMS (ADC-ped)

50
40
30 —
20

10

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=4 "}

70 =
60

50

RMS (ADC-ped)

40 =
—

30 |

20

10

i
120
APV channel




run_13058013 FGT_ADC _1,Timebin=2,Disc=4,asmb=4BC

Mon Feb 27 07:16:51 2012

[ADC for FGT RDO=2,ARM=3,APV=5 }

1000

2000

[ADC for FGT RDO=2,ARM=3,APV=6 }

3000

4000
raw ADC

-ped

Al

1
1000 2000

[ADC for FGT RDO=2,ARM=3,APV=7 }

1
3000 4000

raw ADC

AD%‘ped

1000

2000

[ADC for FGT RDO=2,ARM=3,APV=8 }

3000 4000

raw ADC

ADgped

1000

2000

[ADC for FGT RDO=2,ARM=3,APV=9 |

3000

4000
raw ADC

ADCrped

0 1000 2000

3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

ADC for FGT RDO:
4000

3500

ADC-ped

3000

2500

2000

rm
ke
=
=
=
=
rm:
1500 [
=
rm:
=
=
rm
i
=
0

1000 e
500 -
o) =3 =
E L . . i . . . i . . . i . . . i . . . i . . . i
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 fm— - - - -
< =
3000 fm— - - --
=
2500 f=— - - - - - - -
=
2000 = =0
=
1500 f=—-------
1000 f=—-------
=
500 f=— v - - - e e
=
o=
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=3,APV=8
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

ADC for FGT RDO:
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13058013 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Mon Feb 27 07:17:38 2012

[ADC MPV for RDO=2,ARM=3,APV=5__}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=6 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=7 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120
APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=2,ARM=3,APV=9 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13058013 FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC
Mon Feb 27 07:18:10 2012

60

[ ADC RMS for RDO=2,ARM=3,APV=5 }
q ke
& " H
Q i
< o
o 60 £
s -
°‘ M
50 |
ni
40 [
30 i:
20 FF—
10 BE—
FE
0%
APV channel
[ ADC RMS for RDO=2,ARM=3,APV=6 }
= [—
2 h—
[} 60 L
o m
< ni
2 50 |
4 n
n
40 |
L
E:
30 B
20 B
10 [+
o
[ ADC RMS for RDO=2,ARM=3,APV=7 }
=3 70
8. T
o
2 60 |
o
z 50
40
30
20
10
0 i
120
APV channel
[ ADC RMS for RDO=2,ARM=3,APV=8 }
= 80
&
8 70
2 =
%]
= 60
['4
50 =thbk e et 1 et e e A
Y S0 T SN 11 A | O 1 | O )1 it W 404 1 00 U} L el |
30 [=—
20 o eeeeieeeieeeeeeeedhe e S
=
L e A R e P PP PP PP R
® = i i
0 20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=2,ARM=3,APV=9 "}
= —
g EE
9 80 B |
o ra
< 70 B
o =
s =5
o E -}
Ef..

50

40

30

20

10

i II]IHI] |r|1|r|1|[|-m

APV channel




run_13058013 FGT_ADC 1,Timebin=2,Disc=4,asmb=4CD
Mon Feb 27 07:16:55 2012

[ ADC for FGT RDO=2, ARM=3,APV=12 | [ ADC for FGT RDO=2,ARM=3,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=3,APV=13 | [ ADC for FGT RDO=2,ARM=3,APV=13 "}
L - 4000 p—
g - ] = . H ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2 ARM=3 APV=14 } I ADC for FGT RDO=2,ARM=3,APV=14 l
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q —
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=——
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2, ARM=3,APV=15 | [ ADC for FGT RDO=2,ARM=3,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=3.APV=16 | [ ADC for FGT RDO=2,ARM=3,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13058013 FGT_MPV_1,Timebin=2,Disc=4,asmb=4CD

Mon Feb 27 07:17:39 2012

[ADC MPV for RDO=2,ARM=3,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=3,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=3,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ ADC MPV for RDO=2,ARM=3 APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13058013 FGT _RMS 1, Timebin=2,Disc=4,asmb=4CD
Mon Feb 27 07:18:12 2012

[ADC RMS for RDO=2,ARM=3,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=3,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




run_13058013 FGT_ADC 1,Timebin=2,Disc=4,asmb=4CD

Mon Feb 27 07:16:56 2012

ADC for FGT RDO=2,ARM=3,APV=17

Al ONApecl

[ 1000

2000

3000

4000

[[ADC for FGT RDO

=2 ARM=3,APV=17_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© AR R R A A

raw ADC

ADC for FGT RDO=2,ARM=3 APV=18

ADgped

1
0 1000

2000

I
3000 4000
raw ADC

ADC for

FGT RDO=2,ARM=3,APV=19
—

ADgAped

1000 2000

3000 4000
raw ADC

ADC for

FGT RDO=2,ARM=3,APV=20

ADCrged

1000 2000

3000 4000
raw ADC

ADC for FGT RDO=2,ARM=3 APV=21

AD%ped

0 1000

2000

3000 4000
raw ADC

APV channel

[ ADC for FGT RDO=2,ARM=3,APV=18 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

1
120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=19 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|rn I|'I1II'|1 T

20 40 60 80
APV channel

[[ADC for FGT

Py
]

0=2,ARM=3,APV=20_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

1 H|'I1II'|HI'I

° nrl]lrn|r|1|[|1|r|1|r|]n|1

20 40 60 80 120

APV channel

[ ADC for FGT RDO=2,ARM=3,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel




run_13058013 FGT_MPV_1,Timebin=2,Disc=4,asmb=4CD
Mon Feb 27 07:17:39 2012

[ADC MPV for RDO=2,ARM=3,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=18 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=21 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13058013 FGT _RMS 1, Timebin=2,Disc=4,asmb=4CD
Mon Feb 27 07:18:12 2012

[ADC RMS for RDO=2,ARM=3,APV=17 _}

60

50

RMS (ADC-ped)

40

30

20

10

°'I'I'I'I'[HHIHH|II|I|1I11]111'I'|'I'I

[ ADC RMS for RDO=2,ARM=3,APV=18 "}

H =
-8 I [ A
o il
o —
<3 —

(2]
s I O T N 1Y e 1 Y R 5 M A MR TR I [ 1 PR I8 Rt R s T
2 40 .I
—
o = i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[CADC RMS for
=3
]

2
o
[a}
<
(2]
=
o
[ ADC RMS for
g 70 f—
i —
4} =
[=]
< 60
2
[ so FEHH-
om
H
H
40
30 f—
—
=
=
==
0 'i: 1 1 1 1 1 1
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=21 "}

RMS (ADC-ped)

i
120
APV channel




run_13058013 FGT_ADC _1,Timebin=2,Disc=5,asmb=5BC
Mon Feb 27 07:17:00 2012

[ADC for FGT RDO=2,ARM=4,APV=0 } [ ADC for FGT RDO=2,ARM=4,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=1 } [ ADC for FGT RDO=2,ARM=4,APV=1 "}
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=2 } [ ADC for FGT RDO=2,ARM=4,APV=2 "}
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=3 } [ ADC for FGT RDO=2,ARM=4,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=4,APV=4 } [ ADC for FGT RDO=2,ARM=4,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=5BC

5,asmb

In=2,Disc=

b

Ime

Mon Feb 27 07

run_13058013_FGT_MPV_1,T

17:40 2012

2,ARM=4,APV=0 J

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

=1 |

ARM=4,APV:

=

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=2}

ARM=4,APV:

=2

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

2 ARM=4,APV=3_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

=7}

ARM=4,APV:

=2

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13058013 FGT _RMS 1,Timebin=2,Disc=5,asmb=5BC
Mon Feb 27 07:18:13 2012

[CADC RMS for RDO=2,ARM=4,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=4,APV=1 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=4,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13058013 FGT_ADC _1,Timebin=2,Disc=5,asmb=5BC

Mon Feb 27 07:17:01 2012

[ADC for FGT RDO=2,ARM=4,APV=5 }

-ped

Al
=}

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=4,APV=6 }

AD%ped

I
3000 4000
raw ADC

1
0 1000 2000

[ADC for FGT RDO=2,ARM=4,APV=7 }

ADgped

1 1
1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=4,APV=8 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=4,APV=9 |

ADC1ged

1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=4,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° 11r|1|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

i
120
APV channel

N
NE-.
IS
S
3
3
@
S
o
15}
&

[ ADC for FGT RDO=2,ARM=4,APV=6 }

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0 f=—
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=4,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=4,APV=8 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=4,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13058013 FGT_MPV_1,Timebin=2,Disc=5,asmb=5BC
Mon Feb 27 07:17:40 2012

[ADC MPV for RDO=2,ARM=4,APV=5__}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=4,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

120
APV channel

[ADC MPV for RDO=2,ARM=4,APV=7__}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=4,APV=9 "}

MPV (ADC-ped)

1500

1000

500

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

PRTTTT [-m-r]-'-1-|-|-|-|-|-r1-[1-r




run_13058013 FGT _RMS 1,Timebin=2,Disc=5,asmb=5BC
Mon Feb 27 07:18:13 2012

[CADC RMS for RDO=2,ARM=4,APV=5__J

3
= 70 [
o ~H
2 H
& 60 H
= H
['4 -
50 FH o A
H o 0
H 2 2
| ; ;
40 p—H -
30 p/— B B
= - 2
20 p— . .
= o o
L= 8 2
10 — 5 2
= o 2
0 = 1 1 1 1 1 1
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=6 }

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=2,ARM=4,APV=7 }

RMS (ADC-ped)

i i i i
20 40 60 80 100 120
APV channel

RMS (ADC-ped)

i
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=9 "}

% =
Ik =
%) O EE—
a =
< 80 FE @a
g = |
x 70 HE oo
60 P=
50 f=—
a0 =
=
30 f=—
r—
20 =/
=
0=
=
0

APV channel



run_13058013 FGT_ADC 1,Timebin=2,Disc=5,asmb=5CD
Mon Feb 27 07:17:05 2012

[ ADC for FGT RDO=2, ARM=2,APV=12 | [ ADC for FGT RDO=2,ARM=4,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=4,APV=13 | [ ADC for FGT RDO=2,ARM=4,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2 ARM=4,APV=14 | [ ADC for FGT RDO=2,ARM=4,APV=14 "}
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2, ARM=2,APV=15 | [ ADC for FGT RDO=2,ARM=4,APV=15 |}
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=4,APV=16 || [ ADC for FGT RDO=2,ARM=4,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13058013 FGT_MPV_1,Timebin=2,Disc=5,asmb=5CD

Mon Feb 27 07:17:41 2012
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run_13058013 FGT _RMS 1,Timebin=2,Disc=5,asmb=5CD
Mon Feb 27 07:18:14 2012
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